#AE 25 (89 XER)

FEERE G

RE T BANALIITER)

T % P ié‘i%‘rﬁﬁd#ﬁ CE-4M1-/RF) MM LREIE (BEIH) & AN A H R %1‘?ﬁ—ﬂ5ﬁﬁ%)\*b
) EALEREH R REFT@BA N
I = B PR EBTIEETG0 | FHib, SMNIET2105FH. ITAE3| | 7Eis MNLBT BB Sf6&ETRAIH
T EA 4£fTE2H28H NALBATIZPT EILRE
¥ E B OB (x) 121,440,000 B | (#3k*) 110,400,000 A
A E M (y]) 110,488,400 B | (Bik %) 100,444,000 M
kA% B AR A (y2) 109,382,900 A | (#iik %) 99,439,000 H
ML £ 25(70%) HEIEEH SE(30%) Z Dt FHIE B ey~
(x)=(a) + EEEWIEES sifigkEsn| 0.6(b) A IE B fnEE B
N AR V0 [Temm]enme [awme| comm | (oose |memE| ®E | s |0.7X+0.3v-|ME| %
% 100 (60%) | (7%) (3%) | (30%) | +0.3(e) | HE & Nl (Zl:PZ2)
(a) X (b) (c) (d) (e) Y Zl z2 P
2777/ AWEHE LR | 109,000,000 | 91.3396] 84.5 100 50| 76.65| 82.19 0| 0.0000 2| 90.5947 % AL
AN AR KBIE 5 X IS 110,400,000 | 90.0715 80| 86.45 50| 76.65| 78.54 0| 0.0000 2| 88.6120




